Premier Bike Rack For 12 Bikes, 2 Sided, 8' Gate Style Free 997-008

DETAIL A
SCALE 1 : 4

Standing/Surface Mount

{11 [T}
{1 O
y )

o
pu
]
-/

A’
07 1/2" _ 421/2"

1

Drill plastic out of the mounting holes on the ends, rails and fence using a 7/16” dia. drill bit.
Fasten the fence to the rack ends loosely.

Fasten the rails to the rack ends loosely.

4.  Check the alignment of the parts and tighten all bolts securely.

wo =

In  Accordance to California law: WARNINGThis product contains a chemical know to the State of
California to cause cancer and birth defects or other reproductive harm.
ITEM NO. | PART NUMBER DESCRIPTION QTY.
1 651-005 8' Bike Fence 1
2 651-001 Bike Rack End 2
3 651-006 8' Bottom Rail 2
4 516-029 3/8" X 3-1/2" SS Hex Bolt 8
5 516-023 3/8" SS Flat Washer 16
6 516-028 3/8" SS Nylock Nut 8

PREMIER POLYSTEEL

The Best Commercial Outdoor Furniture Available. Period.

=
i~
m

[REV. X.01 [SHEET 1 OF 1

>



Cari
Typewritten Text
In Accordance to California law: WARNING This product contains a chemical know to the State of California to cause cancer and birth defects or other reproductive harm.


? 997-005

Bottom Rail

Part No. Description Qty.
651-T01 Bike Rack End w/tab 2
651-002 5’ Bike Fence 1
651-003 5’ Bottom Rail 2
516-029 3/8” X 3-1/2” SS Hex Bolt 8
516-028 3/8” SS Nylock Nut 8
516-023 3/8” SS Washer 16

1 Dirill plastic out of the mounting holes on the ends, rails and fence using a
7/16” dia. drill bit.

2 Fasten the fence to the rack ends loosely.

Fasten the rails to the rack ends loosely.

4 Check the alignment of the parts and tighten all bolts securely.

w

o Periodic check %f bolt tightness recommended. -
In Accordance to California law: WARNINGThis product contains a chemical know to the State of California to

cause cancer and bhirth defects or other reproductive harm.

PREMIER POLYSTEEL

The Best Commercial Outdoor Furniture Available. Period.



Cari
Typewritten Text
In Accordance to California law: WARNING This product contains a chemical know to the State of California to cause cancer and birth defects or other reproductive harm.


@ 997-205

3B il
[T Tl
T el ]
K H
30 ’ a
"A o
57 12—~
Part No. Description Qty.
651-011 Bike Rack End 2
Direct Bury
651-014 5’ Bike Fence 1
Direct Bury
651-015 5’ Bottom Rail 2
Direct Bury
516-058 3/8” X 1-1/2” SS Hex Bolt 8
516-028 3/8” SS Nylock Nut 8
516-023 3/8” SS Washer 16

1 Drill plastic out of the mounting holes on the ends, rails and fence using a
7/16” dia. drill bit.

2 Fasten the fence to the rack ends loosely.

3 Fasten the rails to the rack ends loosely.

4 Check the alignment of the parts and tighten all bolts securely.

5  Dirill two 12” diameter holes in the ground per the above drawing.

6  Position bike rack in holes and level.

7  Fill holes with concrete no higher then ground level.
In Accordance to California law: WARNINGThis product contains a chemical know to the State of California
cause cancer and birth  defects or other reproductive harm.

Periodic check of bolt tightness recommended.

Q PREMIER POLYSTEEL SA

The Best Commercial Outdoor Furniture Available. Period.

to


Cari
Typewritten Text
In Accordance to California law: WARNING This product contains a chemical know to the State of California to cause cancer and birth defects or other reproductive harm.


P 997-208

Plan View Wzh Gl
651-011
651-013 1
o £ 651-012
[ ]@;
/|
Front View g
(CEL B
36
93 ‘
Part No. Description Qty.
651-011 Bike Rack End 2
Direct Bury
651-012 8’ Bike Fence 1
Direct Bury
651-013 8’ Bottom Rail 2
Direct Bury
516-058 3/8” X 1-1/2” SS Hex Bolt 8
516-028 3/8” SS Nylock Nut 8
516-023 3/8” SS Washer 16

1 Dirill plastic out of the mounting holes on the ends, rails and fence using a
7/16” dia. drill bit.

2 Fasten the fence to the rack ends loosely.

3 Fasten the rails to the rack ends loosely.

4 Check the alignment of the parts and tighten all bolts securely.

5 Dirill two 12” diameter holes in the ground per the above drawing.

6  Position bike rack in holes and level.

7  Fill holes with concrete no higher then ground level.
In Accordance to California law: WARNINGThis product contains a chemical know to the State of California to
cause cancer and birth defects or other reproductive harm

Periodic check of bolt tightness recommended.

PREMIER POLYSTEEL

The Best Commercial Outdoor Furniture Available. Period.



Cari
Typewritten Text
In Accordance to California law: WARNING This product contains a chemical know to the State of California to cause cancer and birth defects or other reproductive harm.


997-508

1
F > j
o o 5
o 4 343
651-013
651051 | [ h 14
651-012
N[ ‘ H
9
3846
Part No. Description Qty.
651-051 Bike Rack End Surface Mount 2
651-012 8’ Bike Fence Direct Bury 1
651-013 8’ Bottom Rail Direct Bury 2
516-058 3/8” X 1-1/2” SS Hex Bolt 8
516-028 3/8” SS Nylock Nut 8
516-023 3/8” SS Washer 16

1 Dirill plastic out of the mounting holes on the ends, rails and fence using a
7/16” dia. drill bit.

E VS I \S]

Fasten the fence to the rack ends loosely.
Fasten the rails to the rack ends loosely.
Check the alignment of the parts and tighten all bolts securely.

5  Secure to the surface with the appropriate fasteners.

In Accordance to California
cause cancer and birth defects

law: WARNINGThis product contains a chemical
or other reproductive harm.

Periodic check of bolt tightness recommended.

3 PREMIER POLYSTEEL

The Best Commercial Outdoor Furniture Available. Period.

know to the State

of California

to


Cari
Typewritten Text
In Accordance to California law: WARNING This product contains a chemical know to the State of California to cause cancer and birth defects or other reproductive harm.


	997-008
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Detail View A (1 : 4)


	Gate
	997-005
	997-008
	997-205
	997-208




